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O AZ=AIZE FHALI 6,000,000& 6,000
JI2Z3Hl/AZ=0BAEE 10,000 10,000
201 Let23H| 5,000 5,000
01 At 2elt] 5,000 5,000
O A2Z=0BHEE JE22g93|
5,000,000& 5,000
202 bl 5,000 5,000
01 =LHO4b 5,000 5,000
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SM A=A D
M HAHPAZH|(AZ=AAD)
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 2Z=0BIEE =0
5,000,000& 5,000
JI23HI/AEZ=AIER2EE 10,000 10,000
201 er=23y| 5,000 5,000
01 AtR2t2|HI 5,000 5,000
O AZXAIEEEE LE2EH|
5,000,000& 5,000
202 04| 5,000 5,000
01 =LHO LI 5,000 5,000
O M=AIE= 22l 0] 5,000,000& 5,000
NP s(AZ=AAD 145,000 145,000 0
LIS HHXIE 145,000 145,000 0
HWEHARE(HSHEIISHES) 145,000 145,000 0
(VPI=ES = 145,000 145,000 0
0 JI=sdEs 145,000 145,000 0
O M=sdsl)Is d&= 145,000
- SIS XE 35,000,000& 35,000
- 25 d & ANEA A
30,000,000& 30,000
- S3AEX2Y 2 N (8=, ZEE
) 80,000,000 80,000
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